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Abstract

This project was to study about the concrete doing by the inventory that used to.
Be too mixed to add in the concrete. The purpose for study the property of the concrete
when the remnant of iron that be left, from the lathe mixes in the powdery total mass of
the concrete.

The study the property of the concrete, it is designed to mix be compressing af
240 ksc it gets the value be taking pulled by the power of the mortar average at 28 days.
And it gets the value be taking pulled by the power of the ordinary mortar average
equal 12.29 ksc, mortar mixed with scrap iron at 1%, 2% and 3% of the total mass is
powdery it gets the value equal 13.09 ksc, 13.64 ksc and 14.46 ksc Respectively. And
be distinguishing pulling of the concrete average at 28 days. It gets the value
distinguish pulling of the ordinary concrete equal 23.26 ksc. The concrete mixed with
scrap iron at 1%, 2% and 3% of the total mass powdery it gets the value equal 24.33 kse,
30.14 ksc Loy 34.27 ksc, Respectively,
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